
𝐹𝑖𝑛𝑑 𝑠𝑖𝑛𝑥, 𝑐𝑜𝑥, 𝑎𝑛𝑑 𝑡𝑎𝑛𝑥 𝑓𝑜𝑟 𝑡ℎ𝑒 𝑓𝑜𝑙𝑙𝑜𝑤𝑖𝑛𝑔 𝑝𝑜𝑖𝑛𝑡𝑠. 𝐴𝑛𝑑 𝜃௦௧௣

(1,1)
(−√3

⎯⎯ 
, 1)

(−1,1)(1, −
1

√3
⎯⎯ ⎯⎯⎯)

(−2√3
⎯⎯ 

, −2)

𝑆𝑂𝐻 𝐶𝐴𝐻 𝑇𝑂𝐴

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௦௧௣ =

𝑠𝑖𝑛𝑥 = 

𝑐𝑜𝑠𝑥 =

𝑡𝑎𝑛𝑥 =

𝜃௦௧௣ =

(−3√3
⎯⎯ 

, −√3
⎯⎯ 

)
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𝑡𝑎𝑛30 =

𝑐𝑜𝑠30 =

𝑠𝑖𝑛30 =

𝑡𝑎𝑛45 =

𝑐𝑜𝑠45 =

𝑠𝑖𝑛45 =

Solve using the Special Triangles and ASTC and the Unit Circle

𝑡𝑎𝑛135 =

𝑐𝑜𝑠135 =

𝑠𝑖𝑛135 =

𝑡𝑎𝑛150 =

𝑐𝑜𝑠150 =

𝑠𝑖𝑛150 =

𝑡𝑎𝑛225 =

𝑐𝑜𝑠225 =

𝑠𝑖𝑛225 =

𝑐𝑜𝑠210 =

𝑠𝑖𝑛210 =

𝑡𝑎𝑛330 =

𝑐𝑜𝑠330 =

𝑠𝑖𝑛330 =

𝑡𝑎𝑛315 =

𝑐𝑜𝑠315 =

𝑠𝑖𝑛315 =

𝑡𝑎𝑛210 =
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